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Aluseline oksiid+ happeline oksiid
1) Na,O+ SO,= Na,SO,
2) Li, O+ SO, = Li,SO,
3) SO, +K,0=K,SO,
4) CO, + Na,O = Na,CO,

Alus+ hape
1) Ba(OH),+2 HCI= BaCl, + 2H,0
2) 2AI(OH), + 3H,S04 = Al(S0O,), + 6H,0
3) 3Ca(OH), +2 H,PO, = Ca,(PO,), + 6H,0
4) Mg(OH), + 2HBr = MgBr, + 2H,0
5) 2LiOH + H,CO, = Li,CO,+ 2H,0
6) Cu(OH), + H,S = CuS + 2H,0

Aluseline oksiid+ hape
1) 3CaO +2 H,PO, = Ca,(PO,),+ 3H,0
2) BaO +H,SO,=BaSO, + H,0O
3) ZnO+H,S=2nS +H,0
4) ALO, + 3H,SO,= Al,(S0O,),+ 3H,0
5) Li,O + 2HCI = 2LiCl + H,O
6) 3K,0 +2 H,PO,= 2K,PO, + 3H,0

Metall+ hape
1) Zn +H,S0O, = ZnSO,+ H,
2) 2Na+H,S=Na,S +H,
3) 3Ba+ 2H,PO,=Ba,(PO,),+ H,
4) 2Al + 6HCI = 2AICI, + 3H,
5) 2Li+H,SO,=LiSO, +H,
6) Mg+ H,PO,= MgPO, + H,

Metall+ sool
1) Zn +Fe,SO,=ZnSO, + 2Fe
2) Mg + NiSO,= MgSO, + Ni
3) 2Al + 3HgCl, = 2AICl, + 3Hg
4) Cu + 2AgNO, =Cu(NO,), + 2Ag

Sool+ hape
1) BaSO, + 2HNO,= Ba(NO,), + H,SO,
2) CaCO, + 2HNO, = Ca(NO,), + H,CO,



3) 2AICI, + 3H,S0, = Al,(SO,), + 6HCI
4) Na,S + H,S0,= Na,SO,+ H,S

5) 3K,SO,+ 2H,PO, = 2K,PO, + 3H,S0,

6) 3CaCO, + 2H,PO, = Ca,(PO,), + 3H,CO,

Alus + sool
1) Ca(OH), + NiSO,= CaSO, + Ni(OH),
2) 2NaOH + CuCl,= 2NaCl + Cu(OH),
3) 3Ba(OH), + 2Al( NO,) ,= 3Ba(NO,), + 2Al(OH),
4) 6LIOH + Fe,(SO,),= 3Li,(S0O,), + 2Fe(OH),



